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Gen 11:12            Arphaxad’s life before Salah                       +35 YRS  
Subtotal 2463.5+x BC
Gen 11:10 Two Years After Flood                           +2 YRS

Account For Arphaxad’s 0th Year       -1  YRS
                            Account for Fall Epoch of the 2 YRS        -0.5 YRS  
Subtotal 2464+ x BC

Year = -2960  ----MATCH----111
 Year = -2943  ----MATCH----111
 Year = -2889  ----MATCH----111
 Year = -2862  ----MATCH----111
 Year = -2791  ----MATCH----111
 Year = -2740  ----MATCH----111
 Year = -2642  ----MATCH----111
 Year = -2615  ----MATCH----111
 Year = -2571  ----MATCH----111
 Year = -2544  ----MATCH----111
 Year = -2543  *****FAILS******000
 Year = -2542  *****FAILS******000
 Year = -2541  *****FAILS******000
 Year = -2540  *****FAILS******101
 Year = -2539  *****FAILS******000
 Year = -2538  *****FAILS******000
 Year = -2537  *****FAILS******011
 Year = -2536  *****FAILS******000
 Year = -2535  *****FAILS******000
 Year = -2534  *****FAILS******000
 Year = -2533  *****FAILS******000
 Year = -2532  *****FAILS******000  
 Year = -2531  *****FAILS******000
 Year = -2530  *****FAILS******011
 Year = -2529  *****FAILS******000
 Year = -2528  *****FAILS******000
 Year = -2527  *****FAILS******000
 Year = -2526  *****FAILS******000
 Year = -2525  *****FAILS******000
 Year = -2524  *****FAILS******000
 Year = -2523  *****FAILS******000
 Year = -2522  *****FAILS******000
 Year = -2521  *****FAILS******000
 Year = -2520  *****FAILS******100
 Year = -2519  *****FAILS******000
 Year = -2518  *****FAILS******000
 Year = -2517  *****FAILS******110

 Year = -2516  *****FAILS******001
 Year = -2515  *****FAILS******000
 Year = -2514  *****FAILS******010
 Year = -2513  *****FAILS******101
 Year = -2512  *****FAILS******000
 Year = -2511  *****FAILS******000
 Year = -2510  *****FAILS******011
 Year = -2509  *****FAILS******000
 Year = -2508  *****FAILS******000
 Year = -2507  *****FAILS******010
 Year = -2506  *****FAILS******000
 Year = -2505  *****FAILS******000
 Year = -2504  *****FAILS******010
 Year = -2503  *****FAILS******001
 Year = -2502  *****FAILS******000
 Year = -2501  *****FAILS******000
 Year = -2500  *****FAILS******000
 Year = -2499  *****FAILS******000
 Year = -2498  *****FAILS******000
 Year = -2497  *****FAILS******000
 Year = -2496  *****FAILS******100
 Year = -2495  *****FAILS******000
 Year = -2494  *****FAILS******000
 Year = -2493  *****FAILS******000
 Year = -2492  *****FAILS******000
 Year = -2491  *****FAILS******000
 Year = -2490  *****FAILS******010
 Year = -2489  *****FAILS******001
 Year = -2488  *****FAILS******000
 Year = -2487  *****FAILS******010
 Year = -2486  *****FAILS******001
 Year = -2485  *****FAILS******000
 Year = -2484  *****FAILS******000
 Year = -2483  ----MATCH----111 
  -----Jubilee Cycle Match-----
 Year = -2482  *****FAILS******000
 Year = -2481  *****FAILS******000
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 Year = -2480  *****FAILS******010
 Year = -2479  *****FAILS******000
 Year = -2478  *****FAILS******000
 Year = -2477  *****FAILS******000
 Year = -2476  *****FAILS******000
 Year = -2475  *****FAILS******000
 Year = -2474  *****FAILS******000
 Year = -2473  *****FAILS******000
 Year = -2472  *****FAILS******000
 Year = -2471  *****FAILS******000
 Year = -2470  *****FAILS******010
 Year = -2469  *****FAILS******000
 Year = -2468  *****FAILS******000

 Year = -2467  *****FAILS******000
 Year = -2466  *****FAILS******100
 Year = -2465  *****FAILS******000
 Year = -2464  *****FAILS******000
 Year = -2463  *****FAILS******110
 Year = -2462  *****FAILS******000
 Year = -2461  *****FAILS******000
 Year = -2460  *****FAILS******010
 Year = -2459  *****FAILS******100
 Year = -2458  *****FAILS******000
 Year = -2457  *****FAILS******000
 Year = -2456  ----MATCH----111

What this is saying is that if Samuel Judged for exactly 0 years 
then the flood could not be after 2464 BC.  Here is part of the the data 
set of weekday and Jubilee matches between 2464 BC and 3000 BC:

----MATCH---- means the weekdays come out right for that year, 
and  JUBILLE  CYCLE  MATCH means  8  Jubilees synchronize 
properly. I have drawn a line through the last entry because it is not 
before 2464 BC. The variable x solves for 2464 + x = 2483, x = 19.  
So Samuel ruled for 19 years. I have omitted all the **FAILS** data 
before 2543 BC. The number code 000 means that all three months, 
II,  VII,  and  X failed  to  begin  on  the  correct  day of  the  week  as 
implied in the flood account. A match is code 111.  There are two 
other ways to deduce that Samuel ruled 19 years without using the 
flood year. This exercise thus confirms the accuracy of Calendar of 
Israel for the flood year. It also shows that the long advocated 360 day 
pre-flood year is not necessary to explain the data we are given in 
Genesis, namely that of the 17th day of the 2nd month to the 17th day 
of the 7th month spanning 150 days. It can be done with the current 
29 and 30 day months. In this case, there are four 30 day months and 
one 29 days month. The inclusive counting provides 150 days.
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